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‘Balloons and [Veights
Part2
Use your vertical number line, basket. balloons, and weights to answer the following questions.

1)1 you have 4 balloons on the basket. how many weights o you need to place on the basket to
get the basket to return to 07 Why?

4 balloons make the basket go Tto +4,
we need 4 weights to bring it 1 4t0 0. +4 +(-4) =0

Z) T you have 8 weights on the basket how many balloons do you need to place on the basket o
get the basket to return to 07 Why?

8 weights make the basket gol to -8,
we need 8 balloons to bring it Ilsto 0. -8 + (+8) =0

3.)If you have 3 balloons on the basket. what do you need to place on the basket to get the basket
to rest at 72 Why?

3 balloons make the basket goT to +3, we need 4 more

balloons to bring it I 4 more to +7. +3 + (+4) =+7

)T you have 5 balloons on the basket, what do you need to place on the basket to get the basket
to restat-22 Why?

5 balloons make the basket go Ito +5,

we need 7 weights to bring it 1 7 to -2.

51 you have 3 weights on the basket, what do you need to place on the basket to gat the basket
to restat4? Why?

3 weights make the basket gol to -3,

we need 7 balloons to bring it T 7 to +4. -3 + (+7) =+4

)1 you have 2 weights on the basket what do you need to place on the basket to gat the basket
to rest at-4? Why?

2 weights make the basket go lto -2,

we need 2 balloons to bring it 1 2to 4. |-3 + (+7) =+4|
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Part3

For each expression. describe the action on the basket

Eample: 3+ 2

I have three weights on the basket and I add two more weights to the basket The basket will first
g© down three units and then it will fall two more units so it will land at-5_

iy -3

4 balloons, basket goes | to +4; add 6 weights, Basket goes 16
to land @ -2.

5 bz-;lloons, basket goes | to +5; add 6 balloons, Basket goes T 7
more to land @ +12. +5 + (+7) = +12

S=3

6 weights, basket goesl to -6; add 2 balloons Basket goes T2

more to land @ -4. -6+ (+2) =

éWéiéhts, basket goesl to -3; add 7 weights, Basket goes T7 to

land @ +4. 3+ (-7)=+4

B 7'_b‘z-ilsloons, basket goesTto +7; add 5 weights, Basket goesl 5 to

land @ +2.

6'14 \-;léiz;hts, basket goes 1to -4; add 9 balloons, Basket goes 9 to
land @ +5.





